

City of San Antonio Bid Tabulation

Opened: December 9, 2019 For: Annual Contract for Wide Format Printing Services			Local	Non-Local	Non-Local	Non-Local	Local
6100012272			Thompson Print Solutions 5818 Rocky Pt San Antonio, TX 78249 210-734-5356	1st Source Digital 4390 E. FM 1518 N Selma, TX 78154	ARC Document Solutions LLC 600 Broadway St. San Antonio, TX 78215	Print-EC, LLC 17170 Jordan Rd, Suite 404 Selma, TX 78154	South Texas Sign Solutions, LLC 10634 Gulfdale Suite 4 San Antonio, TX 78216
Item	Description	Estimated Annual Quantity					
1	WIDE FORMAT Description: Black ink or Full Color, Wide Format Printing, Stock TBD, One Sided, price per square foot, Delivery to City Facility TBD.						
1	54# gloss Unit price Extended Price (Unit price x quantity)	1,500	\$2.50 \$3,750.00	\$2.50 \$3,750.00	\$2.00 \$3,000.00	\$1.85 \$2,775.00	\$2.00 \$3,000.00
2	24 pt C2S Unit price Extended Price (Unit price x quantity)	1,500	\$2.50 \$3,750.00	\$2.00 \$3,000.00	\$2.50 \$3,750.00	\$2.10 \$3,150.00	\$2.00 \$3,000.00
3	Styrene .030 Unit price Extended Price (Unit price x quantity)	2,000	\$2.25 \$4,500.00	\$3.25 \$6,500.00	\$1.89 \$3,780.00	\$1.79 \$3,580.00	\$2.50 \$5,000.00
4	Styrene 0.40 Unit price Extended Price (Unit price x quantity)	500	\$2.65 \$1,325.00	\$3.75 \$1,875.00	\$2.19 \$1,095.00	\$2.19 \$1,095.00	\$3.00 \$1,500.00
5	Styrene .060 Unit price Extended Price (Unit price x quantity)	500	\$3.00 \$1,500.00	\$4.25 \$2,125.00	\$3.00 \$1,500.00	\$2.65 \$1,325.00	\$3.00 \$1,500.00
6	Coroplast Unit price Extended Price (Unit price x quantity)	50,000	\$1.75 \$87,500.00	\$2.00 \$100,000.00	\$1.95 \$97,500.00	\$1.95 \$97,500.00	\$2.00 \$100,000.00
7	Foam board Unit price Extended Price (Unit price x quantity)	50,000	\$1.75 \$87,500.00	\$3.00 \$150,000.00	\$2.25 \$112,500.00	\$2.35 \$117,500.00	\$2.50 \$125,000.00
8	Gator board Unit price Extended Price (Unit price x quantity)	250	\$3.25 \$812.50	\$5.25 \$1,312.50	\$3.95 \$987.50	\$2.50 \$625.00	\$4.00 \$1,000.00

City of San Antonio Bid Tabulation

Opened: December 9, 2019 For: Annual Contract for Wide Format Printing Services			Local	Non-Local	Non-Local	Non-Local	Local	
6100012272			HH	Thompson Print Solutions 5818 Rocky Pt	1st Source Digital 4390 E. FM 1518 N	ARC Document Solutions LLC 600 Broadway St.	Print-EC, LLC 17170 Jordan Rd, Suite 404	South Texas Sign Solutions, LLC 10634 Gulfdale Suite 4
Item	Description	Estimated Annual Quantity	San Antonio, TX 78249 210-734-5356	Selma, TX 78154	San Antonio, TX 78215	Selma, TX 78154	San Antonio, TX 78216	
9	Die Bond Unit price Extended Price (Unit price x quantity)	500	\$3.50 \$1,750.00	\$7.00 \$3,500.00	\$5.00 \$2,500.00	\$3.99 \$1,995.00	\$5.00 \$2,500.00	
10	Banner Vinyl Unit price Extended Price (Unit price x quantity)	20,000	\$1.75 \$35,000.00	\$2.00 \$40,000.00	\$1.75 \$35,000.00	\$1.50 \$30,000.00	\$2.00 \$40,000.00	
11	Banner Mesh Unit price Extended Price (Unit price x quantity)	1,000	\$2.50 \$2,500.00	\$2.50 \$2,500.00	\$3.00 \$3,000.00	\$2.70 \$2,700.00	\$2.50 \$2,500.00	
12	Adhesive Face Mounted Vinyl Unit price Extended Price (Unit price x quantity)	250	\$2.50 \$625.00	\$5.00 \$1,250.00	\$3.00 \$750.00	\$1.75 \$437.50	\$3.50 \$875.00	
13	Adhesive Back Mounted Vinyl Unit price Extended Price (Unit price x quantity)	250	\$2.00 \$500.00	\$5.00 \$1,250.00	\$2.25 \$562.50	\$1.75 \$437.50	\$3.50 \$875.00	
14	Reflective Vinyl Unit price Extended Price (Unit price x quantity)	250	\$5.60 \$1,400.00	\$8.50 \$2,125.00	\$6.00 \$1,500.00	\$5.25 \$1,312.50	\$6.00 \$1,500.00	
15	Perforated Vinyl Unit price Extended Price (Unit price x quantity)	50	\$3.35 \$167.50	\$4.50 \$225.00	\$3.00 \$150.00	\$2.25 \$112.50	\$3.00 \$150.00	
16	PVC 3 mil Unit price Extended Price (Unit price x quantity)	50	\$2.75 \$137.50	\$3.75 \$187.50	\$4.50 \$225.00	\$2.75 \$137.50	\$4.00 \$200.00	
17	PVC 6 mil Unit price Extended Price (Unit price x quantity)	50	\$4.00 \$200.00	\$5.00 \$250.00	\$6.50 \$325.00	\$2.95 \$147.50	\$4.50 \$225.00	
18	Aluminum, .040 Unit price Extended Price (Unit price x quantity)	50	\$4.85 \$242.50	\$7.50 \$375.00	\$6.25 \$312.50	\$5.79 \$289.50	\$6.00 \$300.00	

City of San Antonio Bid Tabulation

Opened: December 9, 2019 For: Annual Contract for Wide Format Printing Services			Local	Non-Local	Non-Local	Non-Local	Local
6100012272			Thompson Print Solutions 5818 Rocky Pt	1st Source Digital 4390 E. FM 1518 N	ARC Document Solutions LLC 600 Broadway St.	Print-EC, LLC 17170 Jordan Rd, Suite 404	South Texas Sign Solutions, LLC 10634 Gulfdale Suite 4
Item	Description	Estimated Annual Quantity	San Antonio, TX 78249 210-734-5356	Selma, TX 78154	San Antonio, TX 78215	Selma, TX 78154	San Antonio, TX 78216
19	Aluminum, .063 Unit price Extended Price (Unit price x quantity)	50	\$6.50 \$325.00	\$9.00 \$450.00	\$7.25 \$362.50	\$6.45 \$322.50	\$7.00 \$350.00
20	Aluminum, .080 Unit price Extended Price (Unit price x quantity)	50	\$8.00 \$400.00	\$11.50 \$575.00	\$8.25 \$412.50	\$7.35 \$367.50	\$8.00 \$400.00
21	18-mil Magnetic Unit price Extended Price (Unit price x quantity)	25	\$3.60 \$90.00	\$7.50 \$187.50	\$3.50 \$87.50	\$2.89 \$72.25	\$3.50 \$87.50
2	Description: Black ink or Full Color, Wide Format Printing, Stock TBD, 2 Sided, price per square foot, Delivery to City Facility TBD						
22	54# gloss Unit price Extended Price (Unit price x quantity)	250	\$3.50 \$875.00	\$4.35 \$1,087.50	\$3.00 \$750.00	\$2.89 \$722.50	\$3.00 \$750.00
23	24 pt C2S Unit price Extended Price (Unit price x quantity)	250	\$2.22 \$555.00	\$3.00 \$750.00	\$3.50 \$875.00	\$3.25 \$812.50	\$3.00 \$750.00
24	Styrene .030 Unit price Extended Price (Unit price x quantity)	100	\$3.50 \$350.00	\$4.88 \$488.00	\$4.00 \$400.00	\$2.50 \$250.00	\$3.50 \$350.00
25	Styrene 0.40 Unit price Extended Price (Unit price x quantity)	100	\$3.75 \$375.00	\$5.63 \$563.00	\$4.25 \$425.00	\$2.50 \$250.00	\$4.00 \$400.00
26	Styrene .060 Unit price Extended Price (Unit price x quantity)	50	\$4.00 \$200.00	\$6.38 \$319.00	\$4.50 \$225.00	\$3.25 \$162.50	\$4.00 \$200.00

City of San Antonio Bid Tabulation

Opened: December 9, 2019 For: Annual Contract for Wide Format Printing Services			Local	Non-Local	Non-Local	Non-Local	Local
6100012272			Thompson Print Solutions 5818 Rocky Pt San Antonio, TX 78249 210-734-5356	1st Source Digital 4390 E. FM 1518 N Selma, TX 78154	ARC Document Solutions LLC 600 Broadway St. San Antonio, TX 78215	Print-EC, LLC 17170 Jordan Rd, Suite 404 Selma, TX 78154	South Texas Sign Solutions, LLC 10634 Gulfdale Suite 4 San Antonio, TX 78216
Item	Description	Estimated Annual Quantity					
			HH				
27	Coroplast Unit price Extended Price (Unit price x quantity)	5,000	\$3.50 \$17,500.00	\$3.00 \$15,000.00	\$2.45 \$12,250.00	\$2.65 \$13,250.00	\$3.00 \$15,000.00
28	Foam board Unit price Extended Price (Unit price x quantity)	2,000	\$3.50 \$7,000.00	\$4.50 \$9,000.00	\$2.75 \$5,500.00	\$2.75 \$5,500.00	\$3.50 \$7,000.00
29	Gator board Unit price Extended Price (Unit price x quantity)	50	\$5.25 \$262.50	\$7.88 \$394.00	\$5.00 \$250.00	\$3.59 \$179.50	\$5.00 \$250.00
30	Banner Vinyl Unit price Extended Price (Unit price x quantity)	50	\$3.50 \$175.00	\$3.50 \$175.00	\$2.25 \$112.50	\$2.19 \$109.50	\$3.50 \$175.00
31	Yellow Coroplast Unit price Extended Price (Unit price x quantity)	6,000	\$3.75 \$22,500.00	\$3.75 \$22,500.00	\$2.50 \$15,000.00	\$2.49 \$14,940.00	\$3.00 \$18,000.00
32	PVC 3 mil Unit price Extended Price (Unit price x quantity)	250	\$4.50 \$1,125.00	\$5.63 \$1,407.50	\$3.45 \$862.50	\$3.50 \$875.00	\$5.00 \$1,250.00
33	PVC 6 mil Unit price Extended Price (Unit price x quantity)	100	\$6.00 \$600.00	\$8.75 \$875.00	\$3.70 \$370.00	\$3.50 \$350.00	\$5.50 \$550.00
34	Aluminum Unit price Extended Price (Unit price x quantity)	50	\$5.85 \$292.50	040=11.25, 063=13.5, 080=17.25 Non Reflective \$562.50	\$6.25 \$312.50	\$5.99 \$299.50	\$7.00 \$350.00
3	Description: Miscellaneous Wide Format						
35	Standard H-Stakes Unit price Extended Price (Unit price x quantity)	2,500	\$0.75 \$1,875.00	\$1.00 \$2,500.00	\$0.95 \$2,375.00	\$0.65 \$1,625.00	\$1.00 \$2,500.00

City of San Antonio Bid Tabulation

Opened: December 9, 2019 For: Annual Contract for Wide Format Printing Services			Local	Non-Local	Non-Local	Non-Local	Local
6100012272			Thompson Print Solutions 5818 Rocky Pt San Antonio, TX 78249 210-734-5356	1st Source Digital 4390 E. FM 1518 N Selma, TX 78154	ARC Document Solutions LLC 600 Broadway St. San Antonio, TX 78215	Print-EC, LLC 17170 Jordan Rd, Suite 404 Selma, TX 78154	South Texas Sign Solutions, LLC 10634 Gulfdale Suite 4 San Antonio, TX 78216
Item	Description	Estimated Annual Quantity					
36	Heavy Duty H-Stakes Unit price Extended Price (Unit price x quantity)	2,500	\$1.75 \$4,375.00	\$2.00 \$5,000.00	\$2.95 \$7,375.00	\$1.99 \$4,975.00	\$2.00 \$5,000.00
37	Velcro, by the foot Unit price Extended Price (Unit price x quantity)	100	\$1.50 \$150.00	\$0.75 \$75.00	\$0.95 \$95.00	\$0.99 \$99.00	\$0.75 \$75.00
4	Description: Rush/Expedited Fees						
38	Type: Rush/Expedited Fee Per Work Order		\$0.00	24Hr \$25, Same Day \$50	\$25.00	10% per work order	\$25.00
39	Fee: Rush/Expedited Delivery Fee (Not to Exceed \$25)		\$0.00	\$25.00 \$25 Min Order Charge-Any order not meeting \$25 min will be billed at \$25 \$35 Art Fee-Will be billed if supplied art has to be redo	\$25.00	\$0.00	\$20.00
	Payment Terms		Net 30	Net 30	Net 30	4%, 10 days	Net 30
	Subtotal		\$292,185.00	\$382,184.00	\$316,527.50	\$310,281.75	\$342,607.50
	Less Prompt Payment Discount		\$0.00	\$0.00	\$0.00	\$12,411.27	\$0.00
	Estimated Annual Total		\$292,185.00	\$382,184.00	\$316,527.50	\$297,870.48	\$342,607.50
	Estimated Annual Award		\$292,185.00				